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2024 J§ 10 B R = M2
IBRIH =

REHES: 1500  HikXwE: 12048

ERE:
LEEN, TEARACHRE. AL ESHERY, $EUDERBBERKBREN.
LERMEREFTF LR, BERRE LEY,
3.EEEFAN, RHEMNIERE, ABHRERETF ENETENERFSSRE, NENZ, AREET
BE, BEARMERES, QEEEEAN, HERA0 SmnBRLFEFETELTF L,
AFRERE, BERENEFF—HLAE,

—. EFE: FEH12/E, SMESS, H605, EFNMNILHMANETF, AE-HRA
BEAERHY.

1L.E¥z=(1+2i)3+ai)(aec R)RAELK, Wa=
3 3

A.—E B'E C.-3 D.3
208Bd=(1, 2), b=Q+m, 3=m), ¢=Gm, 1), a(¢-5, Mm-=
2 2
A.2 B.=2 C'? D.—-?,-
3.281={1, 2, 3,45}, M={1, 2, 3}, N={3, 4, 5}, M{NMHNM=
A{1, 2} B.{4, 5} C.{3} D.{1, 2, 4, 5}
4BRa=(3)% b=, c=logg, Ma, by cRNERR
A.a<b<c B.a<c<b C.c<a<b Bic<b<a
5. WM ABCHK W2, BD=7BC, WAD - BC=
2 2
Al B.-1 C'? D.—-é-
6.BEH0e(0, 2r), 04N EF K (sin2, cos2), WO =
3a 5w
A.Z-E B.5+2 C——2——2 DT—Z
T.Eﬁf(x)=x—alnx1‘£lil‘ﬁl(l, 6)%%1@7‘:‘@%@?‘_@3%@1%, W a KIBETE R
A.(1, 6) B.(1, C.(3, 4) D.(4. 6)
8.xe(0, %), cos (x + 1—2)—“{;, M sinx + /3 cosx =
2 2 8 8
A. 25 B. 2 C.—g D.g
9.8 %a>b>~>0, MUTFREMHR
Aa+b>2 B.a>1 C.b>1 D.a—%—:—b—%

2>0; T TE A

10.% 4 p: [ (%) = log, . xR0, +oo) LIGHERSEG &iFq: 5—

BAEE BI1RE4T0)



A. p R QB EARTE &M B. p R QIR A UBEFRM
C.pRqrmERMN D. p /& q WIBEARFEA- A A2 24 -
1LEHb <0, f(x)=x*+(b=-2)x+b, y=1f(x)- xHIHNTBERx,, x,, MATLERE.
(D f(x)FFIEHL; (2) JaeR, MVxeR, f(x)>ax; 3) x,+x,>3; (4) x,, x, HLE
Ff(x)) - x BT .

H E# B0
Al B.2 C.3 D. 4
x20
12.B8(x, WER: (¥y20 | W(x-2)+(y-2) &/MEN
x+2y<4
4 2 4
A.—“/—g B. % C. 75 D.<

—, "= FEE4NE, BESSH, #2058
13. 8% log,x + log,x < 3R
14.8%a>1, b>1, ¥pA{Lat, log,b tlog, a*+ 12)B/AMERN4S4, Wa=_

15. BB £ (x), g(x)ELHRAA R, f(x) NE R, E?ﬁﬂg(x)=f(x+%), g(}-l—%):
f(%—x), X (0, %)J:, f(x)=2-1, mﬂf(log25)+g(%)=

Inx In(x+1) (x+ 1in )

1n(x+1] (N xF 1o x _xlnx-(x+ x+1
ORI )= T 7 D AT iy D)
B (TR, + o) ERTERL, Bkt m > n > 1 2071 hlerD ‘;(("'jll)k

%’3 = log,. ,(m + 1) < logym; B E45EHK log,5, log,,626, —)y\fl‘@lj(ﬂim%

=, BER: FEE/MNE, X705, BENEHTFPHA, EFTENRESR.
17. (1043) f(x)=25'mxcos(x+§).

(1) 3RS (x) A LB
(2) Kf()FEO, 27) LFTEREHM.




18. (124) BHRES (x) = % =-(a+ x+ alnx.

(1) amﬁ-%, R () /M
(2) B ERBLS (x) B

19. (125) AABCHINFIA, B, CHXH4B R a, b, ¢, ¢c>b, 4B - AC =20, AABCHIER
$7104/3.
(1) 3K 24;

(2) 05N ABCHL, | [EI% R OB - OC = -ﬂg, Ka.

20. (1243) AABCHIHNAA, B, CHIXH i Ra, b, ¢, ADRLBACEAER, ¢ : AD : b
i3 = 8 : 33,
(1) 3R 24;
(2) AD L H B M, /BMC =90°, Ktan ZABM.
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a1, (1243) E%ﬂ@ﬁkf(x)'=ax+£{4a>b>O)ﬁ,éi(z, %), H7E, + o) bB/AMEHRG.

(1) Ka, b;
(2) x> 08F, Kf(x) LBIERIQ(2, 4)EEE/IME.

2. (124) BAEHS (x) = % +x - 2Inx + mATNBE 1, % (3, < x,).

(1) RKmMTEHE;
(2) 'EEHH: x;+x2>4-
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